Subject: Re: Reasons for Non-Use
Posted by Janet-DHS on Wed, 28 Sep 2022 18:47:44 GMT

View Forum Message <> Reply to Message

Following is a response from DHS staff member Tom Pullum:
Thanks for being more specific. The binary outcome variable would be calculated as follows:

gen outcome=0 if (v501==1 | v501==2) & v313==0 & v362==5
replace outcome=1 if outcome==0 & v3a08c==1

In STATcompiler, the description of the outcome says that the denominator is all currently married
women. Actually the denominator has to be further restricted to women who are not using and do
not intend to use (v313==0 & v362==5). | have suggested that the online description be updated.
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